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y(1)=0.255091u(t)+0.0453838u2(t)-0.000413u3(t)
R2  0.999







y(t) =u(t) +u”(t)

u(t) = cos2Af,t + cos24f,t
y(t) i +1,0,1=12)
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u(t) = A, cos2xnf,t+ A, cos 2rnf,t + A, cos 2nf.t

A=25 A=25 A,=10 A,=45
£ f,, 1,
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f, €[36,40], f, € [4150], f, € [46,55]

SCS

f,e[f -5 f +5](i, j=123,i# j)

fl’ f2’ f3

f+f (i, j=123)

fo+f +f,(,j,k=123)
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SNR=10lg % >10dB
f n













y(O=f[u(t)]
Y(t;):f[u (t)]

n=0







dy,dp,as >

1
minQ(a,, a,,a,) =Zei2 =Z[yi —(a,u, +a,u’” +a,u’)f
T MATLAB
quadprog
minQ(ay,a,,a,) = max | ; |= max |y, —(a,u; +a,u; +a,u;) |
MATLAB
fminimax

-12-



a,,a,,a, >

X;=U, X,=U?%, X;=U3

y=a; X ta,XytasX,
U; ,U:2,U:3,Y:), MATLAB
Isgcurvefit
3)
Y =a X +a,X, +aX; +¢
{8 ~N(0,5°)
MATLAB regress
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d;,a,,d; >

MATLAB

4,=0.244091 4,=0.045383 &, =-0.000413
R 0.999

7
MATLAB regress stepwise
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y=a+bu

R=0.97

y=a+bu+cu?

y=a+bu+cu?*du?

y=au+bu?*cu?

R2=0.999

y=a+bu+cu?+d
ud+eu?







u(t) = A cos 2nf,t+ A, cos 2nf,t + A, cos 2xf,t

y(t) = 0.2441u(t) + 0.04538 u?(t) — 0.004133 u®(t)

cosacosP = z[cos(a + B) + cos(a — B)]
y(t)
(D1 f.,1=1,2,3;
(2) 2 | fiF;1,1,5=1,2,3;

11— ]

(3) 3 | Titf£f | 1,J,k=1,2,3;
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u(t) = A cos 2nf,t+ A, cos 2nf,t + A, cos 2xf,t

y(t) = 0.2441u(t) + 0.04538 u?(t) — 0.004133 u®(t)

cosacosP = z[cos(a + B) + cos(a — B)]
y(t)
(D1 f.,1=1,2,3;
(2) 2 | fiF;1,1,5=1,2,3;

11— ]

(3) 3 | Titf£f | 1,J,k=1,2,3;
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ZB f11f21f3
fotf -1,
a.f ¢[f —B,f +B] (i,j=123)
b-f,+ f [f —B,f +B] (i, j,1=12,3)

c.fi+f +f e[f—B f+B] (i jkl=123)

2

f = f +6(i=123) SNR= 10Ig% > 10dB
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f +6(i =123)




f, €[36,40], f, €[41,50], f, €[46,55].




6
36 42 54 36 42 55 36 48 54
36 49 55 37 43 55 37 49 55
36 42 55 36 49 55
f.+6  SNR 1 2
36 42 5 36 49 55
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T )

d forf,> f,(0 .k =123)
d=min(f,— f, f,— f,2f — f,,
2B
d>B
(f, - f,>B
f, - f, > B
12f, - f, > B
[f,+ f,—2f,|>B

fef-2f) (fh<f,<f)

d>B
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1) )

T T
y(t) N T y(t)

a = 2j y(t) cos 27f tdt,b = 2j y(t)sin 2zf 'tdt

(t) A(f)=a= 4j y(t) cos 24f 'tdt

25



42

MATLAB
29

A(F')

36 42 54

.I: 1

A(T')

36
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<10-°
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3 n

u(t) =>_ A cos2nf,t
k=1

Fourier
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